N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

[N o associated

rmalized x2 |

[N of reco track vs no

16 18 20
track x?

< N N H H
— 5 . . X .
@ . . o .
o g . . X .
— N N N N
= - N
— . . o . 5
Gl N N N N
© N N H H
s N N H H
LR (3] N N N N
1o HI i
o) =}
=)
sxoen aredidnp oney syoen areandnp oney
I o
N <
00 X
— O
8
.nm =1
<
—
N
—
o
—
o
o
<
o
zad
S
Syoel) e} oney
I o
N <
00 X
— O
g
© =
—
<
—
o
i
o
—
0
© ¢
<
N
LR
AL TIPS % L ._|_ o
m —

syoes ang syoesy angy oney

I o
NS
00 X
— O
3
© 5
—
<
—
~
=
(=}
—
0 ‘
o
© "
s
2
~ ]
g
N 9
j i 8
) ] i
syoen L syoen oney



	Contents
	Page 1


